Using the Distributive Principle " Name

he terms x and 3 are not like terms, so we cannot simplify 5(x + 3) by adding the terms in
the parentheses. Instead, we use the Disiributive Principle.

5(x +3)=B5x+5H3 =Hx + 15
Blx =3)=5x-53 =5x-15

Write an equivalent expression using the Distributive Principle.

A |
“2(x+6F-2% - 12  2(x+6)= E3y2x + 1) =
8{x+2) = F8)(x -2) = (57 +2) =
FoYx +4) = [F6)(x -t = 23k ) =
(x +3)4 = (x = 3)4 = 6(2x-3) =
(x =NT = Ax-9) = [-5(5x-2) =
o e = (x+1)(3) = (3x-10)(-5) =
&i«_(j5)(x—6)= (x =6)5 = (wi e
8+3(x+2) X+ H(x-6) ~-5(2x -3) + 4
[ 8]+ 3x[+6]
3x +14
2 (x+ ) +12 X+ 3(x-4)+2x | Bx +3(x -1

0a+2(@+9)+25 | Sx* (x=H)(-7) | x+2(x+D+x
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